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Before attempting the question paper, kindly check your
Question Booklet(QB) and O.M.R. Answer Sheet and ensure
that:
- Serial number of Question Booklet(QB) and OMR Answer
Sheet is same.

- All pages and all questions are properly printed
In case of any discrepancy/defect, the candidate should
immediately report the matter to the Invigilator for replacement
of Question Booklet(QB) and OMR Answer Sheet. No claim/
objection in this regard will be entertained after five minutes of
start of examination, candidate will be liable for the same.
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On OMR Answer Sheet, use blue ball point pen only. Please,
fill your Roll No. and other information correctly in OMR
Answer Sheet.
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If more than one response is marked for a question, it would be
treated as wrong answer.
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To indicate the correct answer, the candidate has to fill in only
one option/circle (A), (B), (C) or (D) with blue ball point pen
for respective question number on the OMR Answer Sheet. If
the candidate does not want to answer any question then the
fifth option/circle ‘(E)’ should be darkened.
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of the option/circle are darkened.
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If a candidate leaves more than 10 percent questions or does
not darken any of the five options, he/she will be disqualified
for the exam.
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Candidate will be given 10 minutes extra to make sure, if he/
she has filled up any one option/circle for each questions.
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If there is any sort of ambiguity / mistake either of printing or
factual in nature in Hindi or English version of questions, then
the English Version will be treated as final.
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A wooden box of rectangular section 1.25 m
wide, 2 m deep, 4 m long floats horizontally in
sea water. If the specific gravity of wood is 0.64
and for sea water = 1.025. Then the position of
center of buoyancy is given by:

(A) 0.25 m above the base

(B) 0.62 m above the base

(C) 0.84 m above the base

(D) 1.24 m above the base

(E)  Question not attempted

1.25 et =g, 2 Hiet Tew, 4 Wit S i
T T T AFS! T T T o T | Aifs €9 &
AT 21 A TRt 1 RIS et 0.64 € AR AR &
it o foTw = 1.025 21 38T & g i Rurfa 39
EEIEIEIRIES

(A) STERH 0.25 HIT W

(B) LR 0.62 HET FW

(C) IR 0.84 HET FT

(D) SR 1.24 HIZ W

(E) 3rafid 9%

The discharge through a V- notch varies as:
(Where H is the head)
VA o Hream ¥ fde fore yehr ufafda g &:

(E)  Question not attempted / 34@3'&?[ Iq

Which of the following is the unit of kinemetic
viscosity?

(A) Pascal

(B) Poise

(C) Stoke

(D) Faraday

(E)  Question not attempted

frefafad & & -6 e T 3l 318 82
(A) UTEhet

(B) HIeH

(C) W

(D) W=

(E) a9

For laminar flow in a pipe, the kinetic energy
correction factor is:

Tk UTST B YT (AfFHR) YaTe o fore, St gemem
(A) 1.85

(B) 1.33

(C) 1.63

(D) 2.00

(E)  Question not attempted / 37T e
[ Contd...



A pitot static tube placed in the center of a 200
mm pipe line, has one orifice pointing upstream
and the other perpendicular to it. If the pressure
difference between the two orifices is 40 mm of
water when the discharge through the pipe is
1365 liters/min, then the coefficient of the Pitot
tube is:

(Take the mean velocity in the pipe to be 0.83 of
the central velocity)

200 Tt T39S % g H W TS Rl fer
(wfeh) g9 # e {95 W Al AR S gmn
3O% 9aq @l A URT o wedw ¥ fewrs

1365 ey e 819 W 2 51 o i 2a1d o1 37

40 ot ot &, t TU2te 2= o1 0Tk 2:
(UTST T ST 7T T h& ™ o7 T 0.83 W)
(A) C=0.984

(B) C=048

(C) C=0.753

(D) C=0.682

(E)  Question not attempted / ag?rﬁ?r 99

E9] @

In any map graphical scale as well as RF
(representative factor) should be shown, since
paper may shrink and actual length may be more
than what is shown. In such case:

(A) Shrinkage factor =

Measured length on the field
Calculated length

(B) Shrinkage factor = Measured length of
field x Calculated length

(C)  Shrinkage factor =

Calculated length
Measured length on the field

(D) Shrinkage factor =

1
(Measured length on the field) x (Calculated length)

(E)  Question not attempted

Torelt ¥t Ao § SATCIGET (FTfthehel) Thel o HTY-

|1 RF (Wt qoies) ft femmr smr =t

Fifeh TS (S HahdT & HIT ATEqTe oaTs av1g

TS SIS & SATET & ehell 21 UH Wi

(A) TopeT T = (&7 | A 7 @) /
(TTOTTT 26 T SHelTs)

(B) Frepet Turier = &t <Y AT TS TS x MOrT
EARIEASCIE

(C) e TUTieh = (TTORT 6T T SaTE) / (&7 T
LLCIRESE )

(D) Forspes TOTTeF = 1 / (& T AT IS e
T 6T 178 TS

(E) 3l o
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If the back sight reading point A is greater than

the fore sight reading at point B then:

(A)  Ais higher than B.

(B) Bis higher than A.

(C) Height of the instrument is required to
know which point is higher.

(D) Instrument position is required to know
which point is higher.

(E)  Question not attempted

afe ug gfe o foig A, feig B 7t 31wy o foig

¥ A A

(A) A, BEFETR

(B) B,A¥FETR

(C) &S o fo7e for 1 |1 foig F=r 2, ST
T HTE AT SATTRIRAT 2

(D) F& S o fore for i i fofg 5= 2, Swetor
i Reafa 1 sTrarvaehar 21

(E) SIfaia

The sensitivity of a bubble tube is 30’ per 2 mm
division. The error (e) in staff reading on a
vertically held staff at a distance of 200 m, when
the bubble is out of center by 2.5 division is:

Ale T F9e IS ol HagaRiterar ufd 2 foreft sm
30" 81 200 HZ T T Gl T Toh FHeafel &9 8 T
T £ T ETF AFET H A (e) B, ST el bz &
2.5 YT § SITEL EN:

(A) e=0.089m

(B) e=0.052m

(C) e=0.096m

(D) e=0.073m

(E)  Question not attempted / 34333'&?[ Iq

E9] @
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A line AB between the stations A and B was
measured as 348.28 m using a 20 m tape, too

short by 0.05 m. The correct length of AB is:

(A) 3702m
(B) 3742m
(C) 340.1m
(D) 347.4m

(E)  Question not attempted

TEIE A 3T B & o= Teh AT AB &l 20 Hie ¢T
T 3TN hieh 348.28 HieT |19 74T, S 0.05 HieX
9 2] AB il G&l daTs &

(A) 3702 HiX
(B) 374.2 "X
(C) 340.1 HiX
(D) 3474
(E) STgaiawd

Curvature correction, if the sight distance is
more, the curvature correction is required because
vertical line at the staff point is not at right angle
to the horizontal line from instrument point. This
correction is equal to:

(d = distance measured, R = radius of the earth)
skl GUTL, e 3f¥ gt SAfersh &, T oshar dxire st
ST & F11h T2I fefg T earer T 3o
foig @ afas Yar & wweior ot 7 21 78 e
oreeh STeR 2:

(d ==t 7 38, R = et < )

(A) d*2R
(B) —d?*2R
(C) d2R
(D) —d/2R

(E)  Question not attempted / 3T Ay
[ Contd...
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Which of the following is the oldest names we
come across in the Rigveda for present day
Jodhpur?

(A) Jangal

(B) Shursena

(C) Maru

(D) Matsya

(E)  Question not attempted

freafafiad & & 9 91 98 g8 qUAT A1 € S e
SFrag A ST 3 Fere fierar 2 -

(A) SIS

(B) @

(C) H=

(D) H®=@

(E) 3rgaid o

in Bhilwara is the largest Mesolithic
site in India.
Choose the most appropriate answer from the
options given below.
(A) Bagor
(B) Tilwara
(C) Berach river bank
(D) Sides of river Luni
(E)  Question not attempted
wierareT 4 I T o8 TS TS0
T B
et faw T forshedt # @ WeE ST ST
(A) ST
(B) facarer
(C) RETETE
(D) <A e o T
(E) Igaid g

E9] @
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has also been called ‘Vishamghati
Panchanan’ :
Choose the most appropriate answer from the
options given below.
(A) Lakshman Singh
(B) Rana Hammir
(C) Maharana Lakha
(D) Rawal Ratan Singh
(E)  Question not attempted

&l et da i FET ST R

< T feapent & o e T
(A) & iR
(B) T g
(C) HERIUIT rEr
(D) Tdd @A o
(E) STgaiawd

Who was given the title of ‘Farzand’ (son) by
Akbar?

Choose the most appropriate answer from the
options given below.

(A) Bhagwan Das

(B) Jahangir

(C) Maharana Pratap

(D) Man Singh

(E)  Question not attempted

e LSt (T5T) 2T IuTrer ot <t off?

< g e Feeed & w9 I

(A) wWEHTH

(B) SEhf

(C) HERIUT ¥4

(D) wH g

(E) SFaiayy

A+
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The use of ‘sar’ as suffix in the names of villages
of Bikaner, Jaisalmer etc. was due to the reason
of:

Choose the most appropriate answer from the
options given below.

(A) Location of jungles

(B) The availability of water

(C) The basis of profession

(D) Location of city exit gates

(E)  Question not attempted

FhIR, SEH TG TITa o A e o &9 F
T T TANT FohE HROT | FohaT T 22

e foq T forshedt 7 @ Herd IR I |

(A) STl T T

(B) YT ol IuT=4dr

(C) U3 ATIR

(D) YT 3 Frenre 3R 1 T

(E) 3rgaid 9

Which fort was originally named ‘Chitrakot’ and
later given its present day name?

Choose the most appropriate answer from the
options given below.

(A) Churu Fort

(B) Jalore Fort

(C) Siwana Fort

(D) Chittor Fort

(E)  Question not attempted

fore fopct T T q &0 8 “Femeple e sfiame d g9
EGLIEEICACRIRICIV

e foq T forshedt 7 € Herd IR I |
(A) & feperr
(B) SR feratr
(C) Taamrferan
(D) ferire forar
(E) a9

E9] @
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Which of the following is not correct with

reference to Pabuji, the folk deity of Rajasthan?

(A) He was born at Juna village of Khali
Khabar.

(B) His mother’s name was Apsara.

(C) Pabuji is worshipped as the God of Horses.

(D) The main place of his worship is in Kolu
(Phalodi).

(E)  Question not attempted

TSTEA o W1 adT Tesit o Ha # ffafigd &

Y % |1 FIA e T8l 82

(A)  3THRT S Tl oL o ST 7119 § 37 |

(B)  3Tehl HTAT ohT AT ST |

(C) TSIt T BIgH o <& o & H T I 2

(D)  3TehT ISIT hT HET T hie] (FeAal) 7 2l

(E) 3gaid o=

The Rajasthan Guaranteed Delivery of Public

Services Act, 2011 does not include:

Choose the most appropriate answer from the

options given below.

(A) The stipulated time limit shall start from
the date when the application is submitted.

(B) The application for obtaining notified
service shall be duly acknowledged.

(C) In case of rejection of application, the
designated officer shall record the reasons
in writing.

(D)  Anapplicant may file an appeal against the
rejected application within one year from
the date of rejection.

(E)  Question not attempted

TS ek Fa13T & Y& T AT AT,

2011 5 wieet 72 #:

i fa T fareredt 7 @ He¥ ST ST |

(A) Traffea go i 3e e & 3 @it S
ST STHT TSR STTaT 2

(B) SARgfad &1 W & & fIQ ATee i
[EIEECRIERI KIS il

(C) TTeeT STEhR fohT ST T feaafer o 1o
SrfreRrt ferfad & ST gst s

(D) 3T ITEATHI T ARG § Tk I o X
ITEAFRd AT o faas e PR &+
kT 2

(E) a9

[ Contd...
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Number of nominal bricks required for 15 m? of
brick work is approximately: (consider nominal
size of bricks)

15 m?® 3¢ &M o faQ traveres g (i) $at
T T AT R: (33T T SRR FTHT HTHT)

(A) 7500
(B) 6750
(C) 7200
(D) 6000

(E)  Question not attempted / sqgﬂlia I4q

The timber preservative ‘creosote’ belongs to the
group of:

(A) Water soluble salts

(B) Tar oil types

(C) Organic solvent type

(D) Inorganic solvent type

(E)  Question not attempted

e e B Frefafed § e ane @
wHeifera &2

(A) S H gl dqau

(B) CRdAYFRF

(C) & fTARIF YR &

(D) SAFTSeh [T TR &

() AJaid g

The optimistic time, most likely time and
pessimistic time estimates of an activity are 5, 10
and 21 days respectively. What are the expected

time and standard deviation?

Toreft mifafarfer o1 STmRmaTdt T, gew @vifad gn
I fRRITaTet wHar STIH A 5, 10 31 21 faq
2| enuferd g9 ST e fomreT w2

(A) 12,3.67
(B) 11,2.67
(C) 11,4.67
(D) 10,16.27

(E)  Question not attempted / H@ﬁﬁﬁ Ll

E9] @
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The probability distribution taken to represent
completion time in PERT analysis is:

(A) Gamma distribution

(B) Normal distribution

(C) Beta distribution

(D) Log-normal distribution

(E)  Question not attempted
PERT T80T & HHTA 9 I 30 o fIg, foram
T TTfRreRaT feraRer 2

(A) 7T feraror

(B) @ farawor

(C) et foraaor

(D) ART-gmERT feraRor
(E) rgdia g

Starting from the first principles, the expression
for discharge ofaliquid (Q) through a venturimeter
is given by:

Where, Q = discharge in m>/s

K = discharge coefficients

C = constant of venturimeter

h = venturi head in meters of a fluid flowing
through venturimeter

Ted frgidl @ & Fd gU, deHiet & e
T o fde & o et @ R &
\_ﬁi Q= m3/s § fAdeT

K = fefe morien

C = it =1 ferdien

h = et o ATEH | 98 aTel qte TaTe o HieT
EREURILICS)

(A) Q=KC"h

(B) Q= K!3ch

(C) Q=KCh'”?

(D) Q=KCh

(E)  Question not attempted / aaﬁﬁ?f BE)

[ Contd...
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The highest peak of Aravali range ‘Guru Shikhar’
is located in which of the following areas of
Rajasthan? Choose the most appropriate option
from the following:

(A) Bikaner

(B) Sirohi

(C)  Jodhpur

(D)  Sri Ganganagar

(E)  Question not attempted

HUSAT THqHTr h FH e A e R
TRy & fefafad & 9 fFg & § R 22
et 7 & we® Sweh fashed =

(A) R

(B) o

(€) ST
(D) TR
(E) SIgaia

Which of the following statements is correct

about Desert National Park of India in Rajasthan?

(Choose the most appropriate option from below)

(A) State tree and state flower are found
naturally.

(B) Fossil evidence dating back to the Jurassic
period.

(C) Aravali hills
boundary limit to the Thar Desert.

mark the westernmost

(D) State bird and state animal are found
naturally.

(E)  Question not attempted

TS § YRd & A8 U ST & g |

frefefad & @ &9 a1 #e g8t 82 (e 5 o g

YT e )

(A) TST I 3T TST T TTH{Teh &7 § 91T SITd
gl

(B)  Sfame wrex S &I % 2

(C) et UrTteat o R it gag afat
iy a0t fafea et 2

(D) TSF vaft 31T U] Sehfdeh &9 § UIC ST
H

(E) Igaid g

E9] @
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Where is the ‘Nakki’ lake located in Rajasthan?
Choose the most appropriate option from the
following:

(A) Udaipur

(B) Mount Abu

(C) Jaipur

(D) Bikaner

(E)  Question not attempted

TS § Tarhl” 3fieT hal fd &2
Frerfesfiae & werd wes foebe o

(A) 3L

N

(B) WIS I

o

(©) A

(D) T
(E) 3{aild 9

Which of the following pairs is not correctly
matched?

(A) Sharad Ritu: Ashwin Kartik

(B) Sheet Ritu : Margshirsh- Pousha

(C) Hemant Ritu : Magha- Phalguna

(D) Greeshma Ritu : Shravana - Baisakh
(E)  Question not attempted

Freaferfia & i 1 o we ghfera e 2
(A) IMG K A Fldh

(B) 3fid q: AHTeAY- Uiy

(C) W= q: AT9- I

(D) U7 K ST - ST

(E) orgafaus

[ Contd...
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Which of the following is a feature of red and
yellow soil found in Rajasthan?

(A)  Good for maize and cotton

(B)  Saufficient amount of phosphate

(C) Deficiency of carbonates

(D) Found in southern part of Dungarpur

(E)  Question not attempted

fafafaa & & -t foemyar TsreaE 5 o S
Iredt AT ST et firgh <hr 22

(A) TR 3T FHUE & fofT 3=zt

(B) hIEhe T qTH HIAT

(C) wIEie T FHHt

(D) ST o STeUlt AT ¥ U1 STt &

(E) 3rgafid o

Which of the following forests are found only in
the mountain areas of Abu in the Sirohi region?
(A) Tropical Thorn Forest

(B) Tropical Dry Deciduous Forest

(C)  Sub-tropical Mountain Forest

(D) Forests of Territorial Region

(E)  Question not attempted

frmfafiaa & & i & 97 e & 3 ot a1 &
TETEST &A1 H T S 62

(A) SWTRfCHHT HidgR I

(B)  IWrehisefia 3rseh qotaTe o

(C)  SUrSThfesel qddiT o

(D) YRS & HaT

(E) Srgaiaug

E9] @
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In terms of bulk modulus (K) and modulus of
rigidity (G), the Poisson’s ratio can be expressed
as:

ST Wik (K) 3R 3T Hidish (G) & Hey H,
STSE STUTT 1 6 WehTK Sk [ohAT ST Hehell &

(A) (3K —4G)/ (6K +4G)

(B) (BK+4G)/(6K-4G)

(C©) (BK-2G)/(6K+2G)

(D) (BK+2G)/(6K-4G)

(E)  Question not attempted / H@ﬂﬁﬁ 949

If the Poisson’s ratio for a material is 0.5, then the
elastic modulus for the material is:

(A) three times its shear modulus

(B) four times its shear modulus

(C) equal to its shear modulus

(D) half of its shear modulus

(E)  Question not attempted

afe fopet warel o o dige S19urd 0.5 €, a1 varel <
AT SremeraT AT 2:

(A) 39 TEI AT T o= AT

(B) 3 TR HIY(eh T AR TAT

(C) 39 STIEYUT HTIT o SR

(D) 38 AUEYUT HTTh T SATET

(E) STgafawd

A bar of uniform rectangular section of area ‘A’
is subjected to an axial tensile load ‘P’, its
Young’s modulus is ‘E’, its Poisson’s ratio is 1/m
and its volumetric strain e, is:
FAFA ‘A FI THEAH AIHR FIE 6 TS T
AT T A P T T &, EHT AT AT B’
2, HeR! YIS STUTd 1/HT T SHehT SAra-faepid
e, &

Pl 3
A ZE|! to]

P 2
(B) E»l +W

Pl 2
© ELI‘W]

P 1
®  47-7m]
(E)  Question not attempted / 3T aug

[ Contd...
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A unique relation between bending moment (M)
and its intensity of load (W) acting continuously
on a beam of span (L) at a distance ‘x’ along the
axis. The flexural rigidity of beam (EI) is given
by:

37E o AT G *x” W AT (L) 3 Teh sH 0 TR
F1 F T R SZITEI;UT (bending moment) (M)
3 38 TR T ST (W) % o=l T et dai 2

i 1 orfelt swarar (B e g &) St 2
(A) M=WL%8

(B) W =d*M/dx?

(C) M =EI* d*W/dx?

(D) M=WL¥12

(E)  Question not attempted / ST T

If the shear force diagram of a simply supported

beam is parabolic, then the load on the beam is:

(A) uniformly distribution load

(B) concentrated load at mid span

(C)  external moment acting at mid span
(D) linearly varying distributed load

(E)  Question not attempted

Id T WA FHRAT W F AT I N
TEATI 8, A i AR 2

(A) TaH &9 ¥ foafa ar

(B) e STafdy W Hfd IR

(C) We 7Y T HT HLA AT SITel ST
(D) as &9 g = faafa a)

(E) Igaid g%

E9] @
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36

A propped cantilever is indeterminate externally

of:
(A)  Third degree

(B)  Fourth degree

(C)  Second degree

(D)  First degree

(E)  Question not attempted

T AT chieol o aTed) &9 § S &
(A) et feft

(B) =neft feft

(C)  wd fet

(D) vedt feult

(E) 3{ild 9

Static indeterminacy for pin-jointed 2D frame is
given by:
(Where, m is the number of members, r is the

number of reactions and j is the number of joints)

fo-w3eh 2D 3w o fore wfaren Stffaraar fret werm
& STt &
(ST&T, m el T WA §, r Tdisharel sl 6 @

3 j Siet T §eaT )
(A)  (mtr)—3]

(B)  (6mtr)—6;
(€)  (B3m+) - 3j
(D)  (mtr)-2j

(E)  Question not attempted / 37T )

[ Contd...
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A beam is hinged at end A and fixed at B.
A moment is applied at end A. What is the

moment developed at end B?

T T R B A T okt oz mar & ot B w fem
foRaT TRIT 1 B A T Tk AT @RI T 2 BN B
T ferenfrer et @ 22

A) M
B) -M
(C) -MR2
D) M2

(E)  Question not attempted / ﬂoqﬂl\lﬁ Iq

In the slope- deflection equations, deformations

are considered to be caused by:

(A) Axial forces, bending moments and shear
forces.

(B) Axial forces and bending moments only.

(C)  Shear force and bending moments only.

(D) Bending moments only.

(E)  Question not attempted

TANR-TI&qur gefierRTon |, faequr st ST /T ST
S

(A) &l 5, ek ATl ST ST o
Y ESERIRESEERECT IR

(C)  hael Y&V e S sk AT

(D) ke sieh STl

(E) SFfaiaug

9] @

11

39

40

Which of the following conservation strategies

do not directly involve community participation?

(A) Demarcation of Wildlife Sanctuaries
(B)  Chipko Movement

(C)  Beej Bachao Andolan

(D)  Joint Forest Management

(E)  Question not attempted

frfafaa & & &9 €t deegor wHifa €@e dt w
Tt rfiert & wmfie T2 22

(A) TS SR T HHiehT

(B) Taumt e

(C) < st st

(D) EIH T JAGT

(E) 3l 9%

Which of the following is the first written

document about environmental awareness?

Choose the most appropriate answer from the

following:

(A) Rigveda

(B) ‘Bhumi Sukt’ in Atharvaveda
(C)  Shanti Path

(D) Yajurveda

(E)  Question not attempted

JTUT STTRsehdT oF ST H Y&l folfad e&dTast shid
qre?

R 7 & o8 3T 3T TH:
(A) Hag

(B) 3roeda | 9l Y’

(C) wrfqurs

(D) IS

(E) gaid o

[ Contd...
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How much area of Western Rajasthan is affected

by the desertification? (Choose the most
appropriate option from below)

(A) 40%

(B) Less than 30%

(C) 45%

(D) More than 60%

(E)  Question not attempted

Tfreft TTEIT T fohaT & TeeuefieRtor & JuTfard
27 (Fre1 & & vt Sy v =1)

(A 40%

(B) 30%T=H

C)  45%

(D)  60% & e

(E) SIfaia

Which of the following is a Zaid Rabi crop in

Rajasthan?

(A) Mustard

(B) Rape seed

(C) Jowar

(D) Taramira

(E)  Question not attempted

Fretafas o o =i Ht TeEe o SrE T 6 e
27

(A)
(B)
(©)
(D)
(E)

Tt
Rurics

ST
ARHIT
i 7

What is the approximate wool production from
Rajasthan in total country wool production?
(Choose the most appropriate option from below)
T i I SCATE H TSTEAT ST It SCATEH T

feraT &2 (P & He® ST forshed o)
(A)  20%

B) 56%

(©) 40%

(D) 65%

(E)  Question not attempted / 3ﬂ?|ﬁ_cf Iq

E9] @

12

44

45

Which dam has been constructed in Chittorgarh
area in Rajasthan? (Choose the most appropriate
option from below)

(A)
(B)
©
D)
(E)
TSTEAT o fereiieTTe & H i |1 Sie ST T 82
(5 5 & et S fore )

(A)
(B)
©
(D)
(E)

Gandhi Sagar Dam
Rana Pratap Sagar Dam
Kota Bairaj Dam
Jawahar Sagar Dam

Question not attempted

Tieft g ST

TN JAT9 {FT STer
T SIS ST
STaTEL TR sty
I T

Chambal Hydroelectric Project is associated with
which two states of India from the following?
Choose the most appropriate answer from the

options given below:

(A) Gujarat and Rajasthan

(B) Madhya Pradesh and Rajasthan
(C) Punjab and Rajasthan

(D) Maharashtra and Rajasthan

(E)  Question not attempted

= AT TR ST TR o rfetiad o & fo
3 U ¥ et 22

= faq e foeredt # € He® 3T I I:

(A)
(B)
©
(D)
(E)

TSI S TSTEIH
HET YT 3T TSI
U 3T T
HERTSS 37T TSTEAT
I RRICRE]
[ Contd...
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What is the head loss in pipe due to friction over
the length of 30 km, if the diameter of pipe is

80 cm and velocity of flow is 30 cm/s?
Take friction factor is 0.032.

Ife qreq H A 80 UHY ¥ I YT T 9T
30 AHi/Ahe & dr 30 fordY it iams & oo & s

uT3y | 3 21 (2 ) T 22

YT T[OTTR 0.032 I

(A) 55m

(B) 45m

(C) 4.0m

(D) 3.5m

(E)  Question not attempted / SATATT T

The bulk modulus of a fluid is given by 25 GPa.

What is the compressibility of that fluid?

et aeT geret T 3TRAT 914k 25 GPa g faam
ST 81 36 e varef Sht ST 7T 7 22

(A) 4x10°Pa’!

(B) 4x10"'Pa’!
(C) 25x107Pa’!
(D) 25x107" Pa’!

(E)  Question not attempted / 34@3'&?[ Iq

E9] @
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49

50

Hydraulic jump is expected when slope of a

channel:

(A) Changes from steep to mild
(B) Changes from steep to steeper
(C) Changes from mild to steep
(D) Changes from mild to milder
(E)  Question not attempted

AT (BTESlcTeh Sv) ds FUferd edr 8 9a
T T TA:

(A) el & ook U itafdd g d

(B) e & sAfers oty A uftafda arar @

(C) T 4 i § uftafda grar ®

(D) Ecoh © I Eodhl B H aIeaATd

(E) rfdia =

Which of the following is the assumption for
Bernoulli’s equation?

(A)
(B)
©)
(D)
(E)  Question not attempted

FHTCAT o GHIRT o foq fefcifad & € &9 €t
TR &7

(A) waTE {2

(B) 3T U B

(C) ST 3Tey wTfes 2

(D) YaTE ST R

(E) Iqaid g

Flow is rotational.
Fluid is incompressible.
Fluid is ideal plastic.

Flow is unsteady.

A circular pipe of diameter 60 cm carries a
discharge of 2.5 m3/s. What velocity of flow
(m/s) through the pipe?

60 Tt ST ITAT Th JATHRR 9157 2.5 m3/s I
e AT 1 UTST § | a8 T 9T (m/s) FT 82

(A) 2.5m/s

(B) 5.67m/s

(C) 8.83m/s

(D) 12.32m/s

(E)  Question not attempted / ﬂ@ﬁﬁﬂ el

[ Contd...
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In which of the following pipe flow losses are

more?
(A) Critical flow
(B)
©)
(D)
(E)

Freafafad o & o ursy yate o fohehl =i 31fees
BT 87

Shifdes JaTg
AR (QFER) YaTe
EELVIPREIN

Laminar flow
Transitional flow
Turbulent flow

Question not attempted

(A)
B)
©
(D)
(E)

H&j}‘ilm

ST T

Which of the following water conservation
methods was first adopted by Paliwal Brahmins
of Jaisalmer? (Choose the most appropriate
option from below)

(A) Tanka

(B) Khadin

(C) Toba

(D) Jhalra

(E)  Question not attempted

ffcIiad # @ i €t I Haor ggld g ued
SIEHT o TetaTet ST g1 S7oTs T8 off? (R
3§ 4 G e foee )

(A)
(B)
©
D)
(E)

ZieRT
LeEAE]
ECI

ELSRY
TN g4

E9] @
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54

Select the approximate length of WNational
Highways present in Rajasthan (as on 31-12-
2022). (Choose the most appropriate option from
below)

(A)
(B)
©)
D)
(E)
TSTEAT H HIS[E TSR TSI 2l AT TS b
=R L (31-12-2022 TF)| (R & & 68 SRH

14,600 km
9,800 km

10,700 km
18,400 km

Question not attempted

e =)

(A) 14,600 fordt
(B) 9,800 ferHt
(C) 10,700 feret
(D) 18,400 ferdt
(E)  3fild o=

Which of the following non-metallic minerals is
found in Rajasthan?

(A)
(B)
©)
D)
(E)
frmfafiad & & &9 91 Tefcas @fs Toed™ o
TTIT SITAT 22

(A)
(B)
©)
(D)
(E)

Copper
Silver
Calcite

Iron

Question not attempted

>

afar
=idt
FETEE
e
I RRICRE]
[ Contd...
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Which state first started the Panchayat Raj

System in India?

(A) Madhya Pradesh

(B) Rajasthan

(C) Bihar

(D) Andhra Pradesh

(E)  Question not attempted

W | G TS el e Tee! [ohd 159 (&
ot

(A) HET Y
(B) TSEYH
(C) foer

(D) ST YT
(E) SIfaia d

Which terminology does not include the three
types of municipalities defined in the 74"
Constitutional Amendment Act?

Choose the most appropriate answer from the

options given below.

(A) Municipal Corporation
(B) Nagar Panchayat

(C) Municipal Council

(D) Finance Commission
(E)  Question not attempted

743 TR e e & gy o9 g
T AT AR T TorE STeaTarctt § STy Tei fomam
T 87

et fow T forshedt # @ We ST ST I
(A) TR

(B) TRYFRT

(C) TRty

(D) T st

(E) a9

E9] @
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The statutory functions of Rajasthan ‘Lokayukt’
do not include:
Choose the most appropriate answer from the

options given below.

(A) Addressing grievances of the public
against ministers.

(B) Generating employment opportunities for
general public.

(C) Looking into issues related to misuse of
post by public servants.

(D) Looking into complaints against mal-
administration and corruption.

(E)  Question not attempted

TSTEA AT’ o TR Tl H M e o

it fow T forspedt # € HeE 30T I ]

(A) TP o g STar i Rt &1 qaree
e

(B)  3ATH ST o oI TSI & STEL YT HiAT|

(C) Tk Uefohi GRT UG o EUAIT § Feiferd qej o
TR T

(D) FIRE 3R YR & faars Rremrd ©
TR AT

(E) a9

The current chairman of the Rajasthan State
Human Rights Commission (as of October 25,
2024) is:

Choose the most appropriate answer from the

options given below.

(A)  Shri Madhukar Gupta

(B)  Shri Ashok Kumar Gupta

(C)  Justice Shri Ganga Ram Moolchandani
(D)  Justice Shri Ram Chandra Singh Jhala
(E)  Question not attempted

TS TS FHEATIRR SR o JadM 37598
(25 ST, 2024 TF) HA &7

it fow T forsped # € He® 30T I ]
(A)  # TR
(B) it 37T FHHR THT
(C)  =rrwfd ot T T Herwiert
(D) =rHfd =t T =iz e g
(E) 3l 9%
[ Contd...
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Who is the present Chief Information
Commissioner of Rajasthan state (as of 25
October, 2024) ?

Choose the most appropriate answer from the

options given below.

(A)  Shri M.D. Kaurani

(B)  Shri Madhukar Gupta
(C)  Shri Mohan Lal Lather
(D)  Shri D.P. Gupta

(E)  Question not attempted

TSTEA TSF o A0 HE& o1 SH HiH 8
(25 SFL, 2024 TF) ?

e foq T forshedt 7 € Herd IR I |
(A) A e

(B) 2 T

(C)  off Hied AT oATT

(D) it it AT

(E) 3raild 9

The State Election Commission, Rajasthan was
constituted in July 1994 under which Article of
the Constitution of India?

Choose the most appropriate answer from the

options given below.

(A) Article 243A

(B) Article 243K

(C) Article 246

(D) Article 256

(E)  Question not attempted

ST 1994 H TSEA TF A SR HT 137
WA Eferer o forer 3Teese o e feparm i a2

et faw T forshedt # @ WeE ST I <
(A) 3TT=% 243A

(B) =3 243K

(C) 373 246

(D)  3¥F= 256

() Aqaid g

E9] @
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Method of curing of concrete recommended for

rapid gain of strength of concrete is:

(A)  Sprinkler water
(B)  High- pressure steam curing

(C) Membrane curing

(D) Infrared radiation curing

(E)  Question not attempted

shle 1 dTehd | st ¥ i o forg S1eifad shshie
o HETE () =i fafr g

(A) Toiser art

(B) 3= a9 WY GHTE (FNTE)

(C) foreett i

(D) S7eeh ferferor SaTer (RIm)

(E) 3{ild 9

Mohs scale is used for stones to determine:

(A) Strength
(B)  Durability

(C)  Hardness

(D)  Flakiness index

(E)  Question not attempted

Hreq AT T ST el T /wr fufwor
% for feram smar 21

(A) dTRd

(B)

(C)  haMT

(D) WASRYT gEhih

(E) orfafaus

[ Contd...
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In AutoCAD basic software,
(OSNAP):
(A)

object snaps

Is the most important way to specify

precise locations on object.

(B) Is the command that creates rounded
corners by creating an arc that is tangent to
two selected objects.

(C) Displays one or more scaled views of
design on a standard drawing sheet.

(D) Can create horizontal, vertical, aligned and
radial dimensions.

(E)  Question not attempted

JATNehe A TTHeaR 1, SHTeside Tl (OSNAP):

(A)  iTesrde W T T Al o o fore wee
HECAYU! LT 2

(B) 9% Fie & St 4 S sife ¥ fou
TIYNET =19 ST T i1 T FHTT HLar
2l

(C) U A ST 3ie T fEsTe o U v 3ferh
e T TTT g2 afRTd e 2

(D) afes, Seater, wifga st feaer smamg s
Hehd B

(E) gaidwd

In the AutoCAD drawing software, ‘PLINE’

command stands for:

(A) Draw a polygon

(B) Draw a polyline

(C) Draw a parallel line

(D) Join two points with a line
(E)  Question not attempted

IATAIHE SET BRI H, ‘PLINE’ FHTS FHT Aol
e

(A) TH IS s

(B) Tk UTcATeATS ST

(C) T GHMIAE T SHTG

(D) 2 foigaii A T T a e
(E) a9

E9] @
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The disposal of sewage by discharging it into
water courses such as streams, rivers etc. is
called:

(A) Dilution

(B)  Flushing

(C) Dumping

(D) Sludge disposal

(E)  Question not attempted

e, afet anfe S| A9 # Hoasd @ Aded
El?ﬁaﬁmw%:

(A) IR

(B) AT

(C)  wferggur (Sfidm)
(D) shrerg faem

(E) a9

The incorrect statement is:

(A) Raw water may contain suspended,
colloidal and dissolved impurities.

(B) Disinfection process is to prevent the
contamination of water during its transit
from the treatment plant to the place of its
consumptions.

(C) Screening is to remove objectionable
tastes, odours and to remove dissolved
gases from the water.

(D) Water borne diseases are caused by
pathogenic organisms.

(E)  Question not attempted

USGERERS

(A)  HAFUETNG STt | Fiferd, shiciigeet ST geft
TS ST[GAT & whal ol

(B)  HICTUTRTIH SfShaT SU=IR €3 & 36k ITHNT
¥ I 7 T % A O 3 wg
U o feae 2

(C)  ThITT STTafeSe TTe, T shi gL i 37
et & et g i et 3 v

(D) e SAfa STt Urrsies Sfiat o SIROT 2t
B

(E) orfafaud

[ Contd...
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The treatment process, for surface water in which

very fine suspended impurities and colloidal

impurities that may have escaped the
sedimentation tank is called:

(A) Screening

(B) Sedimentation

(C) Disinfection

(D) Filtration

(E)  Question not attempted

Had 9 & e sw=m uisen, e 9gq we@n
SHATETS _ﬁ, FEAT! B

(A) TR

(B) Hadred

(C) RIS

(D) fi=deT

(E) 3rgafd o

The vertical angle between longitudinal axis of a
freely suspended magnetic needle and a horizontal

line at its pivot, is known as:

(A) declination

(B) azimuth

(C) dip

(D) bearing

(E)  Question not attempted

T 9 Y feiford gorehia 43 & rgaed a7 A
TEh! U T U &S T o o< HETe HIr
forer &9 B ST ST 22

(A)  Teera (g
(B) s

(C) Afer (@)

(D) feefehior (femm)
(E) Igaid o=

E9] @
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If the standard deviation of an observation is

+ 10 m, then the most probable error would be:

(A) 6.745m
(B) 20m

(C) 10m

(D) 0.6745m

(E)  Question not attempted

Ffe foret STarctien o1 A fomred + 10 et ®,
el G e B

(A)  6.745 HiX

(B) 20 HIX

(C) 10HIX

(D)  0.6745 "X

(E) 31{aid 9

In which aspect of agriculture GIS is used for?

(A)  Soil analysis

(B)  Fertilizer estimate

(C) Pesticide detection

(D)  Speed analysis

(E)  Question not attempted
I o6 ot Tee] H SITATSTH b SUT fehaT STTefm 27
(A)  Terfasgem

(B) ATk ThHaiT

(C)  ShISATET T qdT T
(D) e fegsgywor

(E) orgafau

[ Contd...
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To maintain Kennedy’s relation of critical
velocity (V= Kd?%%) to depth, the ratio of bed-
width/depth should be :

Where, V- is the critical velocity.

K is a constant depending upon the type of silt.

d is the depth of water over the bed portion of the

channel.

(A) lessthan 1

(B) between1to5

(C) between 5to 10

(D) ignored

(E)  Question not attempted

TSt R Bhifss 9T (V= Kd"64) 8 Te0s o defg i
T T % o, -1/ el &l ST 8T
LG

e, V- shifesh 3§

K TTTE (silt) 3 Tehr 9T feft wem feertian 21
d AT o Tl 9T W I T TS 2
(A) 19%9

(B) 1¥5%d=H

(C) 5T10Fd=TH

(D) uferd

(E) SIfaia

As the flow mass curve or runoff mass curve is
the cumulative flow volume ‘V’ versus of time
curve. The mass curve ordinate ‘V’at any time t
is:

(Where, Q = discharge)

<feh TaITE ZeAHT 95k AT 3TUATE FHM a5k §Hd 95
% foreg wrlt yaTe 1A v R TRt of g o
ESLIECEED | CAAAR S

(w7, Q = fde)

(A) V= A "0 ar

(B) V= Jé "0 i

€ V= é "0 ar

(D) V=J£T1/Q~dt

(E)  Question not attempted / STTATT T4

E9] @
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According to Darcy’s law, the rate of flow water
through soil, for laminar flow condition in a
saturated soil is:

(Where, Q = rate of flow, i = hydraulic gradient,
k= Darcy’s coefficient of permeability

A = total cross-sectional area of soil mass
perpendicular to direction of flow.)
<l % o 35 ST, W gt v (@)
vare ot feufa 3 forg firdt & dreem @ siat yare i
TE:

(ST&T, Q = YaTe il &L, i = ETEelieAah aTd, k = S
T ITUTIT 2T 0TI

A = YaT8 I =T o wierard el o g 1 e

T 1S &)

(A) Q=KiA

(B) Q=ki’A

(C) Q=kiA?

(D) Q=kiA

(E)  Question not attempted / 31'@'&?[ 949

The root zone of an irrigation soil has dry weight
of 15 kN/m? and a field capacity of 30%. The
depth of moisture in the root zone at field capacity
is:

(Take unit weight of water = 9.81 kN/m?)
fe=s firgh o ST &1 &7 T WR 15 kN/m? 3R
& &THAT 30% 2l &1 &7 T SIS &1 H o1 hl Tewrg
&

(ITT T 3T W = 9.81 kN/m?> &)

(A) 459 mm/m
(B) 600 mm/m
(©) 779 mm/m
(D) 800 mm/m
(E)  Question not attempted / 31':5'?{?[ Iq

[ Contd...
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The salinity concentration of soil solution (C) is
given by which of the following formulas?

(Where, C = concentration of salt in irrigation
water, Q = total quantity of water applied to the

soil

C, = consumptive use of water, P__ = uscful
rainfall)

T foreta <t SFavrar |isar (C,) e o 9 forer ot
ERUEARS I S

(STef, C = fo=mE a1 # 99 i |izdr, Q = gaT
2T 1T 1T 2T e AT

C,, = STeT 1 ITHR IHAT, peff=3¢€ﬁ1ﬁ5ﬂﬁ)

(A) C€,=C.Q¥Q-(C,-P )

B) C,=C*Q¥Q-(C,-P )

(© C,=C.Q/Q-(C,~P )

D) C,=C.Q/2Q-(C,~-P eff)]

(E)  Question not attempted / 31@?1'?@ Iq

The optimal number of rain gauge stations ‘N’
required for a desired accuracy in the estimation
of mean rainfall is:

(C, = the coefficient of variations of the values,

€ = error in the percentage)

Hd I8 & ke | Fifdd dlhar & g
SATITTF JUHTT ETHET N’ I 359 HE&TT &
(C, = AT o T¥=TaT s TR, € = wicerd & 7<)

(A) Cj/€

(B) C,/€

©) (C,/€)?

(D) C,/€

(E)  Question not attempted / 3ﬂ?|ﬁ_cf Iq

E9] @
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In the method of irrigation, water is applied to a
field by means of small, narrow field channel and
is suitable for crops grown in rows. Since the
water is not applied to the entire area, the
consumption of water is less, is described by

which method of irrigation?

(A) Basin irrigation

(B) Flood irrigation

(C) Furrow irrigation

(D) Perennial irrigation

(E)  Question not attempted

fors i fafer &, ot 3 o1, @il & A &
HqTEIH § Uk ©d § ST ST @ 3R I8 i |
TS S ATt HEet o o 3w 21 <ifeh Tt
&5 1 Tel T SITdT &, SETeTC =T Sl @ud ¥ erdr

®, To=s oy forar farfiy g afvta fema star 22
(A) g =g

(B) e fH=g

©) T (v femrg

(D) e féf=E

(E) 31gaid o=

Gravity dam is a common example of:

(A) Diversion Dam

(B) Overflow Dam

(C) Non-rigid Dam

(D) Storage Dam

(E)  Question not attempted

RSN ST o T Teh | 3ETET &7

(A) SN ST H
(B) STl 1Y T
(C) FgETH
(D) SR aTer T
(E) 3gaid o=
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The stress level below which a material has a
high probability of not failing under reversal of

stress is known as:

(A) elastic limit

(B) endurance limit

(C) proportional limit

(D) tolerance limit

(E)  Question not attempted

8 Widerer & foreeh =t Tfderet o STehau & ded
forelt wemef o fahet T € AT S TirehdT Bl €,

FHEATdT 8

(A)  TcATEY HHHT

(B) WET (TFTH)
(C) STy ¥

(D) U Himr

(E) AgaRawg

For the continuous beam ABC shown consisting
of span AB=4mand BC=3m ([ ,: [, =1:2).
The total stiffness at joint B is:

fe@mu T Had sftH ABC o feTg e Sefta AB = 4
HeT S BC = 3 /(I I, = 1:2) B

SIS B T ARl &

Y B C
A 4 4m A 3m A
(A) 3EI
(B) 4EI
(C) SEI
(D) 6EI
(E)  Question not attempted / ST T4

E9] @
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The dry density of a soil is 1.5 g/cc. If the
saturation water content was 50%, then its
saturated density and submerged density would
be respectively:

foreft fig! &1 306 =9cd 1.5 g/ec 31 IS €q0 S

T 50% ff, AT SHHT TqW =TT IR TATH T
ShHIT: T’:ﬁTIT:

(A) 1.5g/ccand 1.0 g/cc

(B) 2.0 g/ccand 1.0 gfcc

(C) 2.25g/ccand 1.25 g/cc

(D) 2.50 g/cc and 1.50 g/cc

(E)  Question not attempted / ag?rﬁ?f 949

On analysis of particle size distribution of a soil,
it is found that D, = 0.1 mm and D;;, = 0.3 mm
and Dy, = 0.8 mm. The uniformity coefficient
and coefficient of curvature, as given by the

particle size distribution curve, are respectively:

(A) 3and3

(B) 2.67and 1.125

(C) 2.67and3

(D) 8and1.125

(E)  Question not attempted

et firdt & 0 & AR faawor & fasgwor @,
IE G D, = 0.1 il AR D, ) = 0.3 el 37
D, = 0.8 Tl st sebm feraor ok gmar fa g

TEHEYAT T 37T F5hdT O AT €

(A) 3313

(B) 2.67 3 1.125
(C) 2.67 313

(D) 831.125
(E) qaia 9
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A coarse grained soil has a void ratio of 0.78 and
specific gravity as 2.67. The critical gradient at
which a quick sand condition occurs will be:

Ie 3 aTelt e &1 I (void) U 0.78 HIX
fafare Tecd (specific gravity) 2.67 HEREIGED

TEUTAT S T ATe] Uk i ferfer 3eae el €
(A)  0.62
(B) 0.82
(€) 094
(D) 0.74

(E)  Question not attempted / 3ﬂ?|ﬁﬁ Iq

The maximum moisture content below which, the

soil ceases to decrease in volume on further

drying is known as:

(A) Liquid limit

(B) Plastic limit

(C)  Shrinkage limit

(D) Plasticity index

(E)  Question not attempted

HAfererdm Tt i 7 e A= forgh g o stmra
o Y BT & B ST ], 39 39 €Y H ST 74T &
(A) ZIHMET

(B) AT €T

(©) fagsTdim

(D) verTieefyel geehien

(E) 3rafd o

The saturated density for a fully saturated soil is:

(Symbols have their usual meanings)

T e U € el o foTe 6w o €
(SrfeRt BT 7T | 37 R)

a) 8o,

®)  Foew

© S ow

O Fpw

(E)  Question not attempted / 311?'&?[ LS

E9] @
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A sampler with a volume of 45 ¢cm? is filled with
a soil sample. When the soil is poured into a
graduated cylinder, it displaces 25 cm? of water.
What is the porosity (n) and voids ratio (e) of the

soil?

45 cm?® SATIAH aTet Ue faaf¥i i frgh & T &
T TR B ST Ot T SAifeRd (graduated) fieiet
H ST ST 8, 91 98 25 em? U 3B fareenfia sar
31 firgh i Wt (n) 7R ST TG (e) TR

(A) n=044ande=0.8

(B) n=0.72and e =0.35

(C) n=0.44ande=0.62

(D) n=035ande=0.8

(E)  Question not attempted / 31@?1'?{?[ 99

A soil with plasticity index equal to zero may be

called as :

(A) High Plastic

(B) Medium Plastic

(C) Non Plastic

(D) Low Plastic

(E)  Question not attempted

[ % T AT gerehien arett gl it sher
STT |l 2:

(A) I=d WAIeEH

(B) HeH TATEsh

(C) RS

(D) FH TAREH

(E) orgafaus
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In standard penetration test, correction due to
dilatancy/ submergence is given by:

(Symbols have their usual meanings)

HHH /T (standard penetration) TEeTor e
SheTa/ ST o T YR 6k gRT AT ST &:
(ScfiehT T 19T | 37 ©)

(A) N,=15+(N;—15)x 17

(B)
©)

(D) N,=30+(N,-12)

N, =20+ (N,—-18)
N, =25+ (N,~-16)
(E)  Question not attempted / ﬂﬂﬁﬁ?f Iq

If the stirrup spacing is equal to 0.75 times the
effective depth of an RC beam, then shear
capacity of stirrups steel is equal to:

(Where, fy is yield strength and A_, is cross-
sectional area of the stirrup steel)

Ifg e (stirrup) Eﬁ?ﬁ RC &9 &t 71l Tes
0.75 7T o ST €, T Toh1el TTet sh STO&qUT &7l
T

(ST=T, fymmﬁﬁ% A IS T T ST
F1E & )

(A)  1.25(f  Ay)
(B) 116 (f, A)
(©) 1.00 (fy Ag)
(D) 0.80 (f, Ag,)
(E)  Question not attempted / ﬂ'ﬁﬁﬁ el

E9] @
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If a beam is likely to fail due to high bending
stresses, then its bond strength can be increased

most economically by:

(A) Providing vertical stirrups

(B) Increasing the depth of the beam

(C) Using smaller diameter bars in the
corresponding by more numbers

(D) Using higher diameter bars by reducing
their numbers

(E)  Question not attempted

afe fereft sff % 3= b el A (high bending
stress)ﬁaWﬁWﬁEﬁW%, ar saeht
Sy TRk I qog AT ATIw € T TR A1
gehdT 2

(A) Feater feety yam T

(B) e AT TTeTE SGHT

(C)  3Afres AT O | | DI A9 ol TATE!
YT AT

(D) 3T HEAT 1 Fleh 3= ATH hl TATGT T
SYNT HEAT

(E) Igaid o

Which of the following is not a category of

schools of Rajasthani paintings?

(A) Hadoti school

(B)  Abhaneri school

(C) Mewar school

(D) Marwar school

(E)  Question not attempted

frmfafiad # @ i Usteart fsrear & e i
roft 7 27

(A) eI T
(B) ST T
(C) HTS Ted
(D) HIETS ¥t
(E) orgafaus
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Which of the following is not a dialect of

Rajasthan?
(A)  Gavri

(B) Hadoti

(C) Wagadi

(D) Mewati

(E)  Question not attempted
ffefad & & S Tsteem i st 72 22
(A) T

(B) @I

(C) drTer

(D) WaTdt

(E) 3rgaid o

Choose the incorrect pair from the following with

reference to folk dances of Rajasthan:

(A)  Gair - Barmer region
(B)  Chang - performed by women

(C)  Kacchi Ghodi - performed on marriages
(D)  Ginder- Shekhawati region

(E)  Question not attempted

TSR o ek Jedi o ge¥ ¥ fmfafad 8 & Terd
T ] =TT ST

(A) - ST &

(B) =T - ufgaret grr fokar S are

(C) F=3 el - forame o ST O fohart ST aret
(D) e - rEmEr &

(E) 3rgaid o

E9] @
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Which of the following word defines the age old
tradition of memorials that were erected after the
death of persons of eminence such as ruling
families or rich merchants?

Choose the most appropriate answer from the

options given below.

(A) Baoris

(B)  Chhatris

(C) Dargah

(D) Pol

(E)  Question not attempted

T 4 0 1 | w1ee 3 TReT <t wfea Qe ol
I UG LT © S v qiErd 41 S
ST St gfafyd safwt i geg % e S e
99

et fow T forehed # & Had SR ST |
(A) S

(B) wardrl

(C) =ume

(D) e

(E) 3qaid 9

Who built the famous temple of ‘Tanot Mata’
located about 120 kms from Jaisalmer?
Choose the most appropriate answer from the

options given below:

(A) Baba Ramdev

(B) Raja Ishwari Singh

(C) Mabharaja Jai Singh II

(D) Bhati King Tanu Rao

(E)  Question not attempted

SIHEHT AT 120 Tehedieiiet g feora e Arar
T TS, Wi Fore samam o

it fow T forshedt § @ werd 3UgTh I H:
(A) &7 Hd

(B) USTIH fiw

(C) werST s faE fadr

(D) TSI

(E) qaid 9
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Vijaydan Detha was a famous writer (Litterateur)

of Rajasthan. Which of the following is his famed

work?

(A)  Vanphool

(B) Agniveena

(C) Dharti Dhoran Ri

(D) Batan Ri Phulwari

(E)  Question not attempted

fosem Qo e % IfrE dfidsr 9
frafafaa 3 & w5 a1 37 vftrg #:rf 22
(A) R

(B) Afdom

(C) eXdr gt d

(D)  rdi § BTt

(E) Srfaiaug

In which military cantonment did the first revolt
of 1857 break out in Rajasthan?
Choose the most appropriate answer from the

options given below.

(A) Jalipa

(B) Beawar

(C) Longewala

(D) Nasirabad

(E)  Question not attempted

TSTE W 1857 1 9ee fa5ie fore &= et
gATAT?

<R o T feepent & o e S
(A)  Siefrar

(B) =

(C) <mraTer

(D) THETE

() Iqaid g

E9] @
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In which Praja Mandal movement did the Kangar
(Kangad) incident take place?
Choose the most appropriate answer from the

options given below.

(A) Jaipur Praja Mandal
(B) Bikaner Praja Mandal
(C) Kota Praja Mandal

(D) Jhalawar Praja Mandal
(E)  Question not attempted

FHR (FITL) hl FeAT fohg TSTHISS Ao | g8
of?
et o T forehed # @ Had IR ST |

(A) SIS HUSA
(B) SRR USTT HUSH
(C)  =IeT ISIT HUSHA
(D) HATATATS ST HUSH

(E) EFIQqﬂlflf‘l I9

Matsya Union was formed with the integration
of:

Choose the most appropriate answer from the

options given below.

(A) Kota, Jhalawar, Dungarpur, Banswara
(B)  Bharatpur, Dholpur, Abu, Karauli
(C) Jaipur, Jodhpur, Bikaner, Jaisalmer
(D) Alwar, Bharatpur, Dholpur, Karauli
(E)  Question not attempted

HOE HE T T3 e TehiahtuT § g3T T
it fow T forshed € HeE 30 I ]
(A) I, FIATETE, ST, SHaTel

(B) A, YT, 1, FHlrelt

(C) R, S, AFER, e

(D)  ITCAe, WATE, HTTqy, hiielt

(E) 3Jaid 9
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Sexual Harassment of Woman at Workplace Act,
2013 mandates that at the district level, there
should be one:

Choose the most appropriate answer from the

options given below.

(A) Internal Complaints Committee

(B) Local Complaints Committee

(C) Saathin at Gram Panchayat level

(D) Sakhi, in a ‘One Stop Centre’ Scheme

(E)  Question not attempted

SFRIE T ATEATST T A4 Scdted Afifam , 2013
o FTET ST &t W e BT =R

=t faw T foreredt # € Hed IWh I T

(A) ik e wfafa

(B) T fRrehmra wiufd

(C) T Y=TId Tl 9 |9

(D) I Y Y FISHT § HEt

(E) Ffdita g

The ‘geometrical increase method’ for the

forecasting of population is:

(Where, P = present population, i = yearly or per
decade increase in population,

[, = Average arithmetical increase, I, = Average
incremental increase)

STEEAT & qATAH o sanfidt gieg fafer 2:
(STEl, P = 99 SHEEA, | = SEET § it
a1 wid qwek dgfg, 1 = e s 9ig,

I, = 3TEq gexiia afs)

(A) P =P+n*i

(B) P =P+n(+1)

(©) P_=P(1+(i/100))"

(D) P, =P(,+(i/100)")

(E)  Question not attempted / 3ﬂ?|ﬁ_cf Iq

9] @
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The presence of alkanity in water is due to excess
of:

S H &TIET T SRR foREshT STTereRdT o T
&t 22

(A) HNO,

(B) CaCO,

(C) HCO; or CO5 "

(D) H,SO,

(E)  Question not attempted / ﬂiﬂﬁﬁ 949

The method not used for speed and delay study

is:

(A) Floating Car Method

(B) License Plate Method

(C) Photographic Technique

(D) Pavement Unevenness Method
(E)  Question not attempted

TTfer SR et 37e o foTu 3w 7 Y ST areft
fafer &

(A) wetaT s fafer

(B) dTgHd wie fafer

(C) IS dehrish

(D)  Ffen (UaH=e) SauTar fafe
(E) a9
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At sharp horizontal curves on highways radius
‘R> (in meters), the percentage reduction in
gradient, provided to compensate the loss of
traction force due to curvature is:

TSI 9 80 &fas 7 |/ Bear R (dieT #),
SAheT % 10T HOOT St o JHET hl TS o [Tq

(A) 50/R

(B) 75/

(C) 100/R

(D) 125/R

(E)  Question not attempted / Cﬂaﬂﬁ?‘f Iq
As speed increases, longitudinal friction
coefficient:

(A) Decreases

(B) Increases

(C) Remains same

(D) First increases then decreases

(E)  Question not attempted

83 it et 3, arRed endor o,

(A) =R

(B) sar®

(C) T

(D) YT J&dT & TR aedr @
(E) 3rgaid o

E9] @
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As per the recommendations of Indian Road

Congress, the ruling gradient in plain is:

WIRATT §Sh iU sh1 ST & HTER, FHa H

frisreh TeureT (ruling gradient) BT € -

(A) linl5

(B) 1in20

() 1in30

(D) 1in45

(E)  Question not attempted / ﬂiﬁﬁﬁ 94

Psychological Widening in the extra width
provided in the pavement on the curves is:
(symbols have their usual meaning)

Th W FEAT § YW H TR AR e §

o o
HAlAITHen dlglehll] %2

(Srcftent =T STIAT AT 37 7)
(A) V2R

B) V9.5 VR

(C) nl?2R

(D) nl*R

(E)  Question not attempted / 3T e
The minimum length of Transition Curves as per
Indian Road Congress for plain terrain is:

(Symbols have their usual meaning)

AT WS HIUH & FTHRL GHA THT % foIg

(Scftenl ST STIAT AT 379 ®)

(A) 0.0215 V3 CR

(B) 80/75+Y

(C) 2.7V?R

(D) V?225R

(E)  Question not attempted / ﬂiﬁﬁﬁ pES
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An ascending gradient 1 in 100 meets a
descending gradient of 1 in 120. The deviation

angle for designing of summit curve is:

15 100 1 A T 1 H 120 & G0 ST &

firera 21 e 356 o fesiTe o foTe, farere =ior &:
(A)  1/600

(B) 11/600

(C)  1/12000

(D) - 1/12000

(E)  Question not attempted / STTATT T4

In the penetration test for bitumen, the least count

in the penetrometer is:

(A) 1mm

(B) 0.1 mm

(C) 0.01 mm

(D) 0.001 mm

(E)  Question not attempted

forgh < Sidarer wdieror |, Ufrgifiet o steqadi
2

(A) 1ot

(B) 0.1 et
(C) 0.01 et
(D) 0.001 ot
() Iqaid g

E9] @
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In a load- balanced prestressed concrete beam

under self-load the cross-section is subjected to:

(A) axial stress

(B) shear stress

(C) Dbending stress

(D) shear and bending stress
(E)  Question not attempted

-9 & H@Tq MR-Eqfora gE-sfdafera sshie s
T ST IR (FhiE-HaRT) T o 37efie 2T 2:

(A) 7 et

(B)  TUSYUT YfdeeT
(OR-CEEISINEER]

(D)  STTEYOT I ek ATl Ffcfaret
(E) 3l 9%

The systems of pre-stressing suitable for the pre-

tensioned members is:

(A) Magnel-Blaon System
(B)  Freyssinet Systems

(C) Hoyer Systems

(D) Gifford- Udall System
(E)  Question not attempted

Q&l-cHTE aTet TR o foTg 39k qel-amrar soredt
&

(A)
(B)
©)
(D)
(E)

EERECIER IS
BAIREES LIS
ERISEUIC]
firpre-sere yorrelt
TN I
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A simply supported rectangular beam is uniformly
loaded and is prestressed, the tendon provided for

prestressing should be:

(A) Straight, below centroidal axis

(B) Straight, above centroidal axis

(C) Parabolic, with convexity upward
(D) parabolic, with convexity downward
(E)  Question not attempted

Teh T GHTI T SARATeR 19 g9 &9 9 e fomam
T & SR - 2, Ye-aTe o ot e fe

(A)  HHT, s (Tiged) 316 & i
(B)  HHT, FegehT (UIESe) 378 & FU
(C) THad(eh, ST UL hl 3T

(D) WA, SAdT {1 T 3T

(E) SFfdia o

A simply supported prestressed concrete beam is
of 25 m span. The initial stress is 1000 MPa. The
slip in the jack during tensioning is 2 mm. If
E, = 200 GPa, the loss of prestress due to
anchorage slip is:

T aid gutda fiegee sehie v 25 Hiet g
(span) T 2| IR @ 1000 MPa &1 9919 &
2T Steh | herer 2 foeft 21 7fe B, = 200 GPa, @1

Uehtsl f&eTT o SHROT STEeH T THEM &

(A) 12%
B) 16%
©) 10%
(D) 1.6%
(E)  Question not attempted / 3ﬂ?|ﬁ_cf Iq

E9] @
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For a simply supported slab of thickness =
200 mm, effective depth = 165 mm, clear span =
4.0 m supported on a 230 mm thick masonry
wall, the slab is subjected to a live load of
4 KN/m? and surface finish of 1 KN/m? The
nominal shear stress (T,) on it is:

(Assume f =25 MPa and Fe 415 steel)

230 fieft AT AT aTelt SR W EHiT T =
200 Toeft, srarelt TeTE = 165 T, atame foegfa =
4.0 X & Toh WA FHT T o [T, Tig T
4 KN/m? &l 9159 &€ 3R 1 KN/m? 31 g R
B 39 W AT I9EY9T Yfdeet (T,) &

(A ok £, = 25 MPa 31X Fe 415 &)

(A) t,=0.51MPa

(B) 1t,=0.152MPa

(©) 1t,=0.189 MPa

(D) 1t,=0.23MPa

(E)  Question not attempted / 31':!3?'?{?[ BE)

The slenderness ratio of lacing bars should not
exceed:

WW%W (slenderness) 3T9Td 3aY AfTH
EEKEIE I

(A) 120
(B) 145
(C) 180
(D) 100
(E)  Question not attempted / 31'@'?{?[ BE)
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In plate girders intermediate vertical stiffeners

are provided to safeguard:

(A) Increase self-weight of plate girders

(B) Web against shear buckling stress

(C) Transfer concentrated loads on girder to
the web

(D) Web against bending buckling stress

(E)  Question not attempted

e TE H LA 3] WeAad| Heate Rewr yam
[EQUSIGEE

(A) I TEN % & ol a9 T3H & foIg

(B) Il STUEYUT ki Jfcered & =T o feaq
(C) e W hfsd R ol 9 T AN F &
fee

I I AFET FTRfAT Fferaet & sr=m o fow
ERICRE

(D)
(E)

A column member of length ‘I which cannot
sway has a rigid foundation at its bottom. Its top
is held with heavy beams. The effective length of
column is:

TS ) 9T Ueh T {FFd (AFeR) S fEer T
GohdT 2, 39k dof I Tk W ffq 21 39ehr o 9t
o1 G TEohT GAT 21 TiW shl THTET T &

(A)
B)
©
(D)
(E)

1.51
1.0/
0.81
0.651

Question not attempted / 34@3'&?[ Iq

E9] @
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120

Rapid Hardening Portland Cement (RHPC)
confirms to which IS code:

(A)
(B)
©
(D)
(E)
e T udcle Hive (sTruadie) forer sTseg
T & IFTET &

(A) STTSTH 455:1989

(B)  3T3TH 8041:1990

(C) 3ATSTH 12600:1989

(D) TETH 12330:1988
(E) orgafaus

IS 455:1989
IS 8041: 1990
IS 12600: 1989
IS 12330: 1988

Question not attempted

Consider the following data for concrete with
mild exposure:

Water-cement ratio = 0.6

Water = 195 liter

The required cement content will be:

HE ITHEA AT Shshie o Toq FmfcTiad $e1 ™
faem =t

qH1-HiHE 3T = 0.6

arHt = 195 #fieX

STk HHe arft e

(A)
(B)
©)
(D)
(E)

472 kg/m>
383 kg/m?
325 kg/m>
294 kg/m?

Question not attempted / 3774 B
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SPACE FOR ROUGH WORK / T% & o feTu Lo

IR T | &l WA & - e Fir 3 ety S, ot S ox ottt et Sie ¥ U6 qiarel o8 e ohi a1 Siaar
afteren <kt €T, wtereff wert foeter ufd <t STem et ol | sereh g 3T e ol qet Wid ol 319 urd ST 3R, Tt
il <1 9t Ui & e ATST U A1 L M Yeieh ST T qlieelT shi @i | wltemeff fedta wfa =t svoq aror ot
SR |
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